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Chapter 4 Review

XA 1. Write each power as a radical,
1

1 1 : 1
a) 13’ = I3 b) (27 =_3-2 g 154 = ]IS
2. Evaluate each power. _
o1 ' 1 1
a) 252 = J25 = b) (—1000) = 3J-1000 = 10 1* =231 = |

3. This formula is used to estimate the thickness of ice, t millimetres, needed to support @ mass,
1

m kilograms, safely: t = 3.8 m2
To the nearest millimetre, estimate the thickness of ice needed to support each mass.
a) a person with a mass of 75 kg

=5 — +t= 38%"75

t= 3.8%xJ75

The thickness is about: 32.9

( b) a car with a mass of 800 kg
=800 —» t= 38%800
t= 3.Bx J8co

The thickness is about: 107.5 "~ = 10,7715

4. Write each radical as a power with a fractional exponent.

3 5 £

3 3
o 25 = 24> d) @11 =1
5. Evaluate each expression.
a) (=) = 2= 4 b) /4 =
( 2
2 3 5
o (-64° = Y- d) st = 2Bl = 3°
=(-4) = l& = 243




EXY 10. Evaluate each power.

1 1 3 3
a) 362= (Ba=b b 1257=3126=5 o gii— Bl = 3°= 29

11. a) Write each radical as a power.

2 >
) F18 18" i) (921 217
b) Write each power as a'radical, .
2, —y | 2 g 2
i) 25% \}2.5 i) 75" Jas

X 6. Write each power with a positive exponent.
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7. Evaluate each power.

a) 36 2= _l_: b) g3= |
3c* /%
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XA 12. Write each power with a positive exponent.

5 — _';' ! 1 e d 9\3 2\3
a) 8°= es b)6 = Yy C)ﬁ— 3 )<E) —(q '
b 53
. = a3
13. Evaluate each power. , 9
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IEX3 14. Evaluate. _
Yy AN -1 L,3_4_
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15. Simplify. Write an expression with a positive exponent where necessary. _
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- 1.Write as a power with a positive exponent.

. 1%

b) —t3

a)5-54.57=8§

9 @-392= (34)7 d) (—3—2)1 (&y"
= 5'5 = 84
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2. Evaluate.

a7 = 7"
= 49
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3. Write as a power with a positive exponent.

3 14
a)5t .5 4= 5

-1
+’=% i

¥=9

2—1.75 3 .
2—0.25

-
—

it

Each answer should
be an integer or a

fraction.
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